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1.

2.

Please do not open this Question
Booklet until you ‘are told t6 do so.

Candidate must fili up the necessary

information in the space provided

on the OMR Answer Sheet before
conimencement of the test.

For marking the correct answer,
darken one circle by black or blue ball-
point pen only. Please do not mark on
‘more than one circle. Darkening on
more than one circle against an answer
will be treated as wrong answer.

Do not detach any leaf from this

Question Booklet. After the examina-

tion, hand over separately the entire

’ Questlon Booklet and Answer Sheet to

the Room Invigilator.

. Each question carries 2 marks. There
is no negative markmg for any wrong

answer.

Possession and use of Calculator,
- Mobile Phone and Pager is prohxbrted

in the Exammatlon Hall.

For any discrepancy in the translated
version of any question in Hindi, the
English version of the question wﬂl be
valid.

You - should refurn the “Question
Booklet to the Invigilator at the end

of the examination and should not
carry any paper with you outside the

’ Exammatxon Hall.
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1. Chlpko "'Movement, which drew T
. strength from - Sa{vodayag
“Movement, in its different phases’

‘was mainly which - one 6‘1’ the“

following?

(a) Quintessential = peasant .
movement and a celebrated
environmental movement - "

(b} Successful commercial
‘forestry to certain

“ecatchmients

(c): ‘Movement . to" prevént the
loss of land

(d)- Movement ~ to = retain:
underground water level

2 Who among the followmg has

- rejected’ the" notlon of ‘a “third
world’, cla1mmg that there is’

: complex network Qf ,co;homlc

. exchange relanonshlps-;a world

economy?

(a) Immanuél Wallerstein

(b) Andre Gunder Frank

/19-C

() Samir Amin

(d) Paul Baran =

» " e'“\ ° T \ I "e"»

. In the United States_of America,
- . who- among the

following
uses/use filibuster? . -

(a) The Congress to pressurize
~.the President '

.

'~ (b) The President to prevent the

introduction of a bill in the
Congress

(c) Members of Senate to
obstruct the passage ofa b111

'(d} :Employers ,.to' break up

employees stnke

k:t{_Pres:&ent of® South Afnca is
" elected by whom' among the
- fouowing% ‘

(a) Ns’tiéhal“Assembly '

(b) Naﬁoqal q Assembly az;d

_Natlonal

Oouncﬂ of
Provinces o

(c) President of Constitutional

" Court’

(d) Citizens of the country in a

direct election

l
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‘50}’
. statements js not correct in case

6.

Which ‘éne of ‘the" following

of USA?

(a) Bill of Rights is enumerated

~in the US Constitution

(b) The Constitution is the
supreme law of the land

3

(c) There is a provision of single
cmzenshlp in USA

(d) The membefxs ofethe House of
Representatives are elected
for a period of two years

Which one of the following
Committees/Commissions pre-
pared the ground-work for the
communal award granting
separate representation to

depressed classes in Indla?

(a) Southborough Commlttee
(b) Simon Commission
(c) Nehru\ Committee

(d) Lothian Committee

Consider the following issue :

. ‘When the Parliament was in

. in  Bastar

/19-C

session, there was an attack by
the Naxalites on a police station
region  killing
policemen as W@ll d4s’ some
civilians.

“Whiich of the following is the
- mest: i appropriate tool to raise

this issue in the Lok Sabha?
(a) Calling Attention Motion
(b) Discussion under Rule 377
(¢) Cer;sﬁre Motion

(d) Short Duration Discussion

. Which one of the following is not

correct about the powers of the
President of India to grant

pardons, reprieves, respites or.

remissions of punishment or to

_suspend, remit or commute the

sentence of any person convicted
of any offence?

(a) The President can do so in

all cases where the

__.punishment. or sentence is
"*'by a Court Martial =~

(b) The Pre51dent may exercise
such powers in all cases
where  punishment  or
- sentence is for an offence
against any law falling
within the executive power

(c) The President may exercise
such power in all cases
where  the sentence is a
sentence of death

(d) The President may reject a
petition  for : mercy but
he/she must hear a petition
for mercy before rejecting

e T TS
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‘Which~  of the™ following
statements:;on  Zonal Cauncils
are correct?

1. They owe their existence to
the Constitution of India.

2. There are five Zonal Councils
in India.

3. They coordinate- relations
among the Governments of
State and Union: Territories
and the Government of
India.

4. They are sét up under the

States Reorgamsatlons Act,
1956..

Select the correct answer usmg

‘ the code ngen below :

Code :

@ 1,2 and 3

(b) 2,3 and 4

() 3 and 4 only

{d) 2 and 4 only .

10.

/19-C

Constituion ' (Seventy-third

Amendment) Act that provided -

for the estabhshment of

Panchayats also made which of

the following provisions?

1. Addition of a.new schedule
(XI) to the ‘Constitution
listing 29 subjects which are

"to be hancﬂed by the
- Panchayats.

2, Addition of a new schedule

(%) to the Constitution
listing 18 subjects which are
to be handled by the
Panchayats

3. Bar..on .the courts to
questlon the vahdlty of laws
relating to the dehmltatlon of
constltuen(nes

- 4. Number of the seats in

Panchayats, not to be less
‘than one-third (excluding
the number of seats reserved
for women belonging to the
Scheduled Castes and
Scheduled Tribes)  be
reserved for women.

Select ‘the correct answer using
the codes given below :

o Code :

(@ 1, 2 and 4

() 1and3
“ (é‘)’ 2and 4

@ 1 ony
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‘Consider the! following
statements Wlth respect to the

‘Rajya Sabha.:

1., The ongm of the Rajya
Sabha can be traced back to
1919, when in pursuance to
the Government of India Act,
1919, "a “second: chamber
known . as the Council of
‘States was created. '

- 2. The Rajya Sabha has special

powers to declare that it is

necessary ‘and expedient in

the national  interest that

Parliament may-make laws

with respect to a matter in
~ the State list.

Which of the statements given
above is/are correct?

(@) 1 only

" (b) 2 only

12.

(c) Both 1 and 2
(d) Neither 1 nor 2

Which one of the follbwing is not
a part of the objectives of the

Science and Technology Pohcy,v

2003?

(a) To ensure food, agricultural,
nutritional, environmental,
water, health and energy

security of the people on the

sustainable basis

(b} Optimal utilization of
existing physical
knowledge resources

/19:C

and

[c) Restm‘mng brain dram

(d) Devetopment of 1nnovat1ve

-technologies
13. Who said, “Man is born free but
everywhere he is in chains”?
(@) Marx
(b) Hobbes
(¢} Rousseau
(d) Gandhiji
14. Match List-l with List-Il and
select the correct answer using
the code given below the Lists :
List-1  List-II
A. Willoughby = 1. Two treaties -
on
government
B. Locke 2. Law of free
monarehies
C. Rousseau 3. The nature of
State
D. James 1 . 4. The social
‘ contract
Code :
‘@) A B C D
1 3 .2 4
') A B C D
13 4 2
g A B C D
: 3 1 2 4
@) A B C D
3 1 4 2
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18.

Which ‘is not a concept of State

_according to fascism?

State
16. Match  Listd {Forms of
Government) = with List-1I
(Essential Features) and select
the correct answer using the
code given belowthe Lists :
List-I ~ = ~  List-II
(Forms of . (Essential
Government) Features)
A. Cabinet 1. Administrative
Government - law
B. Presidential : 2. Comtentration
- Government  of power
C. Federal - 3. Separation of
Government . . power:
D. Unitary =~ 4. Collective ,
Government respon31b111ty
Code :
@A B C D
4 1 3 2
) A B C D
1 2 3 4
¢ A B C D
4 3 1 2
d A B C D
2 4 3 1

(a) State is' an end in itself

(b) Authonﬁanan charactei' of

(c) State is non-spiritual force

(d) Cooperative chédracter of the

f19-C .

17,

Wthh one of the following ' is
not a regional economic
organization? -

. {a) OAS

() ASEAN

g SAARC

.18,

- List-I
~ (Countries)

A. China 1.

B. Germany 2.
C. France 3.

D. South 4.

(d) ECOWAS

Match List-l - (Countries) with
List-11. {Types of Political System)
‘and select the correct answer
usmg the code glven below the
Lists' :

o List-II

(Types of Political

System)

Federal, Represen- °
tative, Democratic,
Republic
‘Sovereign, Demo-
‘cratic, Republic
People’s Democratic,
Socialist, Republic
Indivisible, Secular, .

Africa Democratic, Republic
- Code :
@ A B C D
4 2 3 1
® A B C .D
.3 1 4 2
) A B C D
4 1 3 2
@ A B C D
3 2 4 1
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+19: Which- one ‘ of ‘the ~following

{c)- Palqstan, . South Afnca Sn

20.

combinations hasirall - Federal

~ States?

(a) USA, Canada, Australia, Sri
Lanka

(b) France, _Malaysia, Canada,
USA '

Lanka, Canada

(d) USA, Aus&‘raiia,-f‘?‘?M&laysia, -

. Canada

N

Py oy
b

‘Pasliarmentary Suprémacy is the

definite feature of the. poht1cal
system 1n

(@) UK

21.

' ‘(b) Irgé‘ia“
te) Cafiada

.- {d) A%t{alia e e

Which is the represertative and
popular organ of UNO?

(a) General Aséembly
(b) Security Council

() Economic and  Social

Council

(d) Trusteeship Council

/19:C

1919 :
. The . . 4, Introducuon

#22. Mdtch “EiSt=] (Acts) with” Ligt-II

(Provisions) and select thie:correct
answer using the code given
below the Lists::

(Acts) - (Provisions)

. The Govern- . 1. Transfer of

ment of India power from

Act, 1935 =~ East India
Y "Compaty to
the British
Crown

CThe' T T 4 Envisaged
“Government -

: ~+ Dominion
of IndiniAct;: . Status to
1909 . India

. The " 3. Introduction

Govemment
of- rndla Act,

of provincial
aut'oh’omy

Governmient of Dyarchy in

of India Act, - province
1'1858 S RS VAT o P o .
T : 5. Introduction
of separate
electorate for
Muslims and
others
Code"': :
@ A B C .D
1 4 2 3
) A B C D
3 5 4 1
) A B C D
1 5 4 3
(d) A B C .D
3 4 2 1
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- correct-about -‘Byarchy’

:Whichi ‘onie of théwféﬂomng is ot
‘intro-

© duced by . the Government of
" “India Act of 1919?

(a) It was a system QI dual

government at central and
- w/~previncial levels.. = . -

(b) ~Provincial = subjects were

o _d1v1ded into reserved and
‘transferred | S ;,

‘(¢) Governor appointed

... decision

24,

- miinistefs from  the “elected
.. yaembers of the Legislative
Council '

Vg g s

(d) Governor had ‘the power of

overriding the  majority

Which part of the Constitution of
India refers to the responsibility -

of the State towards inter-
national peace and security?

(@) Fundamental Rights

(b) Directive Principles of State
Policy

(¢ Emergency i’rovisions

(d) ‘Preamble to the Constitution

/19C

25 Which xasfam nottrue m case of

26.
"~ Assembly and

1. He

the Governor?

is appomted by the
President. ‘

| 2. He keeps theb Union informed

about the State’s activities.

-3. He:gan -dismiss the State

Government.

4. He is the Chaxrman of the
State Civil Semces

(@) 3 only
V(b) 1, 2 and 3
(c) 4 only

(d) ‘None of the above T s

Once a Bill is passed in the State

sent to the

Governor for his assent, he

1. gives his assent to the Bill

2. withholds his assent

3. reserves the Bill for the
consideration ofl:President

4. returns it to the House for
reconsideration

~. .Select the correct answer using

the code given below :
Code :

(@) 1 and 4

() 1 and 3

(¢) All of Etcii.e?;.bo‘ie

(d) None of the sbove
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28,

29.

(d) Belief in innate rights
Who among the _foIlowing has
coined ‘the’ term" poweér elite?

() C. Wright Mills
(c) Karl Marx -
@ V. Pareto
Consider - the.-  following
statements :

~In his theory of justice, John
‘Rawls. '
1. reconciles a liberal

conception of = “political

/19-C

27. Which one of:the following is

correct with  regard to all

theorists of social contract?

Csd
<

(a) Erasing = the - distinction
between law.and morality

THe principle of separation
of powers '

)

(c) Formation of- pubhc author-
ity with social consent

obligation . . with a
redistributive conception of
social justice

2. affirms  the = utilitarian
principle for ' determining
what. is.good and desirable

16

30.

- 3. wses the instrument of the

:social. contraget to ensure
. fairness ‘ ‘

4. maintains that the concern’

for redistribution trumps
_ indjvidual liberty

Which of the statements given.
above is/are correct?

(@) 3only
(b) 1.and 2
© 1 and3
(d) 2 and 4

Public institutions may not cope
with the expansion of demhocratic

. participation leading to political

decay. Which one of the following
scholars draws attention to such
a consequence?

(a) Rajni Kothari
(b) k‘SVaJ.'nuel Huntington

(c) Robert Dahl "

(d) David Held -
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31" Consider -  ‘the i+ following
statements : = o
1. In the Hind Swaraj

Mahatma. Gandhi formulates
a conception of good life for
the individual as well as the
society.

‘2. The Hmd Swara_] was the

outcome of the experience of
Gandhi’s prolonged struggle
against Colonial Rajin India.

Which of the statements given
above is/are correet?

(@) 1 only
(b} 2 only k
(c) Both 1 and 2

~ (d) Neither 1 ‘nor 2’

32.

Match  List-I  (Theories of
Democracy) with List-1I
...(Champions) —and  select the

correct answer_ using the code
glven below the Llsts

} List-I _ Lest-ﬂ
(Theories of (Champions)
Democracy)
‘A. Elite theory 1. C. B.
'~ Macpherson
B. Pluralist 2. Robert Nozick
theory e
C. Radical theory 3. Vilfredo
_Pareto
D. Neo-Liberal 4. Robert Dahl -
theory '
[/19-C- 18

33, (

2 : (d),

@

@) 1

Code :

B C D

2 4.-1..3

k) A B C D
2 ‘1 4 3.

-f¢g A B C. D

3 4 1 2

(d)

w >
=
e

Consider
statements :

1. Truthisa subJectlve quahty,
available only to a few gifted
people, whose will or spirit
or personality is greater than
that of the masses.

2. Non-violence is the law of
our species as violence is the '
law of brute.

the folloxy;ng

Which political ideologies are

~reﬂected in the statements 1 and
2 above respect1vely'-’

Marxism in 1 and Gandhism
in 2
(b) Syndicalism in 1 and
.Gandhism in 2
" {¢) Fascism in 1 and Liberalism
in 2
Fasmsm in 1 and Gandhism

1n2-
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34.

Which one of the followitig pairs
is not correctly matched?

(a) Mahatma delndhi’s Ideas :
C. F. Andrews

- (b) The Gandhian Way :

(d) Gandhi’s

35.

J. B. Kriplani

() Marx, ‘Gandhi  and
Socialism : =
Ram Manohar Lohia

Political

Philosophy :' B. R. Nanda

Which dnég of the féﬂovﬁng was
the first -country-wide pressure

- group of.the organized Indian

working class?

(@) All-India  Trade Union
Congress o

(b) Indian National Trade Union
Congress .

' () " Indian Minihg Federation

/19-C-

(d) Hind Mazdoor Sabha

36.

37.

Which' ‘one of the following

political theorists finds the
concept of imagined community’

inadequate to describe
nationalism = in = post-colonial
societies? o :

(a) Partha Chatterjee

() V.R. Mehta
(c) Hans Cohn

(d) Ernest Gellner

Match List-I (Institutions/Unitsof
Government) with - List-I
(Countries Associated) and select
the correct answer using the
code given below ‘the Lists :

List-I List-Il
(Institutions/ Units (Countries
of Government) Associated)
A. Laender 1. France’
B. Procuratorates 2. China
C. Privy Council = 3. Great Britain
D. Commissions 4. German
de moderniza— Federal‘k,
tion Republic
 Code o
@ A B C D
1 2 3 4
) A B C D
i 1 -3 2 4
© A B C D
. 4 3- 2 1
d A B C D
4 2 3 1
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38.

“The National Assembiy of South
Africa, by a resolution,adopted

~with a supporting vote of at least

two- thxrds of its members, can

remove the President from the

office on which of the £ollowmg

grounds?

1. Serious "\"ziOIation “of the
Constitution- or the . Law

2. Serious rmsconduct ,

K3}

w

Moral corruptlon

4. . Inability . .to . perform .the

functlons of the ofﬁCe

~ Select the. correct ‘answer using

the code given below :

M) 1,2 and 4 ‘?nly:

(c) .3 and 4 onlyi:

@ 1,2,3and4

39.

/19-C

Under the Cltxzenshlp Act 1955,

by Wthh of the followmg ways .

can a person become a citizen of
India? :

1. By birth

2. By déscent; .

3. By registration

4, By natiohé.lizatiqn

5. By incorporation of territbry

22

o s Select theficorrect answer uaing

the code given below :
Code :

@11, 2, 8, 4amd 5

(b) /ﬁ;“‘l and 2 only

40‘

)

o

o)

(c) 1, 2, 3 and 5 only

;;;;;

The KamraJ Plan proposed

‘fpnqnty to agriculture over
mdustry

mductmg semor leaders to
partyf Work'

election to all party offices
(@)

an overhaul of the Congress
Working‘ Committee

Whlch one of the followmg pa1rs

'is correctly matched"

Riéhts of

(a) ADM Jabalpur :
Case citizens
v _under
*’ ‘emergency
(b) Vishakha Case : Centre-
SRR I st . State
E relatlons v
(c) Iﬁdira : Rights
Sahney Case - of women
at work
(d) Kartar Singh : Rights of
- Case i " .minorities
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. Who defined the State as a
‘h_uman . community = that
(successfully) clalms the
physical force within a given
territory’? i

" (a) Benito Mussolini .

43.

(b) Max Weber
(c) Thomas Hobbes

(d) Nicolo Machiavelli

Which oné of the following is the

most appropriate identification of

- the normative;;approach- to the

study of Political Science?

The normative approach is based
on ‘

(a) individual preferences,

moral choices and concern

" for moral ob_]ectlves

(b) .an analysxs of the empmcal
reahty in quest for ‘moral
objective

(c) the belief that values need to
be studied exclusively

(d) the necessity to strengthen
the empirical- ' bases of
preferences

/19-C

44-

‘Which one.of the following is: not
the correct explanation. of the

behakural approach'-’

'The behavioural approach

(a) is' synonymous with the
- behaviourist approach

4 (b} aims at the unlty of the

social sciences

) ‘(c)‘ aftempts at the seientiﬁc

45.

study of politics

(d) largely reflects concern of all

the political scientists in the
USA .

According to Marx, which one of
the following is the principle of
distribution in the Socialist
State? |

(a) From each according to his
ability to each accordmg to
his needs

-(b) Ffom each‘accordmg to his

,ablhty to each according to
his work

(e) That - property should be
equally distributed among
all ‘

(d) That merit alone should be
the;:basis, of distribution
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Which one of the following pairs

-is correctly matched? -

(@) Structural ..:. Bosanquet
functional o
approaqh

(b) Behavioural : Charles
approach .. . Merriam

() Conflict  : Seymour
approach Lipset

«(d) Marxist 5 Jacques
approach Derrida

47.

Iy Rou-ssea,u‘sfcpncept?ufg:Qenefal

Will avows which one of the

following?

(a) Parliamentary Sovereignty

- (b} Popular Sovereignty

/19-C

(c) So’{réreign’ty'l, of " the
Constitution =~

(d) De jure Sovereignty

26

-Which one.
'vsuggested by the concept of
“Universal Cltlzensh1p9

(a) Identicat

(b) Ident1ca1

' (d) “Singlé!" citizenship

4& ‘Which of «the following. state-

ments are correct? -

1. L1bera1 femmlsm stands for
equa.l nghts and opportu- -
nities ‘in pubhc and political
life. ~

2. Socialist feminism highlights
link between female sub-
ordination and the capitalist
mode of production.

3. Radical feminism proclaims
that the  Personal is
Political’. ;

4. Post-feminism = maintains -
that family be abolished.

Select the correct answer using
the code given below :

Code

(d)l 3 and 4

)2and80nly

() 1 and 2 only

(d) 1,2 and 3

of following is

rights for all
"'persons N
‘rights for all
cmzens

!C) Common rights for al WIth

some’ ‘special - rights for
minorities

‘in the
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.5 T4 E:“Marshall links#stre pesdbn
one. vote for c1t1zensh§;p with

(@) social class “in the context
of capl”‘v““ o and  its
by-product, the market

" (b} suffragist mﬁveiment of the

" nineteenth-centufy

“(c)k emergence of Marxlsm

(d) rise of political fparties

+B1.

52.

" (a) active,

"(c}= the

/19-C

In " Rawl’s’ theory,” rights are
based on:which of the following
principles?

(a) Deentologi\srr‘x
(b) Hedonism

(c) Pragmatism
(d) Idealism

Civic  republic
citizenship supports

view = of

resporisible’ and
. virttous citizenship-

(b) . self-reliance and ‘exi"iticizes
. the Welfare:State

- view ' that .t¢in  a

__class-divided . society, the
' idea of equal c1ﬁ2ensh1p is a
: sham

1

(d equal nghts and equal
access for all

&*‘v “The probleth of ‘a just societytis

not the single problem of
economic equality but the much
more  difficult problem of
aehievingTsimuitanepusly in one
society both liberty and
equality.”

Which system does this passage

. justify? 0.

{a) Capitalism

(c) Fascism

JEHEEI Rt

(d) Democratic Socialism

-S4 __W{hlch one. of - the  follow
- prmc1ples is: not endorsed by

realist theory in’ mternatmnal
relations? i

(a) Principal actors in the
mternatlonal system are
Soverexgn States’

(b) States are national actors
- engaged in ‘pursuing their
national iriterests '

(¢) Overriding goal of each State
is its. security and survival

(d) State survival is guaranteed
best by adopting strategies
of cooperation . ..
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88,

Accerdmg to the Constitutiofy’of

- +India, which one of the-following
rights_cannot be taken away

dunng emergency’P

(@) Right to speak = .

~ (b) Right to freedom of

movement

SN
FER ORI

(c) Right to life

(d) Right to orgj.;nisé

Artlcle 30 of the Indian

‘ Constltution deals vvith the

“{a} "freedom of ‘¢onsciences

(b) right to propagate religion

(c) nght of minorities to
establish ‘and  manage
- i educational institutions

TR

(d). cultural and ‘.. educational

rights of the majority
community

/19

57. The Joint Session of the two

Houses of the Parliament is
chaired by

(a) Vice Pres1dent of Indla

. (b) Spea_kglf of the Lok Sabha

(c) Chairman of the Rajya
Sabha

() Prlme M1n1ster of Ind1a

. The Indian Parliament consists

of .
1. President .
2. Lok Sabha

3. Rajya Sabha

Select the correct answer using
the code given below :

Code :

(a) 2 only

«b) -2 and 3. only

(c) 1, 2 and 3

- (d) 1 only

59. How many members can be

nominated by the President to
the Upper House?

(a) 12 8
@ 14
. (¢) 1/3rd of total

(@ 2
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60. Match - List-I with ‘List-Il and

select the correct answer using
the code given below the Lists :

List-I =~ List-II
A. Vidharbha . 1.:Maharashtra
B. Telengana 2. West Bengal
C. Bundelkhand "3. Andhra
_ v ‘ kPr.a‘.desh
D. Gorkhaland 4. Uttar Pradesh
Code : v
@ A B C D
1 3 4 2
W A B C D
- 1 2 3 .4
g A B C D
4 1 2 3
d A B C D
‘3.1 2 4

61.

- 119

.

“A State is a-human community
that claims the monopoly of the
legitimate use of physical force
within a given territory.”

Who amongfefthe following gave
the above definition of State?

(a) Laski
(b) Plato
(c) Max Weﬁér

(d) Aristotle

32

62.

63.

64.

A*é‘éérding to” Marx the State
came into’being to. :

(a) make life better

(b) protect life and liberty |

(c) end of exploitation of the

- poor.
(d) legalize exploitation of the
poor by the State

In .which Indie-xn‘ scholar’s
thoughts, we get the unit of
divine origin theory of the State?

(a) Manu
(b) Vishwamitra
(c) Jaydev

(d) Rabi;idranath Tagore

What is negative liberty?v

. {a) Absence of constraints of law

~(b) Freedom to pursue one’s

~own good

[c) Freedom to choose

d) Noneé of the above
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65. The Hobbesian contract. was:

66.

(a) between: the peop}c and

Leviathan

{b) between the “;s;SCiety and

Leviathan

(c) among men living in the
. state of nature

(d) between the ' leaders and

Leviathan
The Panchéyati Raj is bASed on
the principles of
(a} cen&éﬁsgﬁbn
(b) decentralisatidn
(c) democratic decentralisation

(d) democratic centralisation

67. The first  to. implement the

/19

concept of planned economy was
(a) Jawaharlal Nehru

(b) Jos;eph Stalin

(¢) Marshal Tito -

(d) Mao Ze Dong

68.

69.

70.

The system .of proportional
representation as an electoral.
mechanism ensures

(a) méjority rule

(b) stability in government

() minority representation

(d) None of the above

Who among the following was
not associated with the Swaraj
Party?

(a) C. R. Das

(b) Motilal Nehru -

(c) B. S. Moonji

(d) Dadabhai Naoraji

The MN“c;ﬁ:-Cooperatidn 'Movement
was withdrawn because of

(a) its objectives wérc achieved

(b) the British Government
agreed to negotiate with the
Indian leaders

(c) it . indicated people’s
preference to use violence

(d) None of the above
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71.

72.

Which type of party system

China has?

‘(a) Multiparty system

(b) Biparty system
(c) Single party system

(d) One-domination
system

party

Which of the fo_-l’lowiﬂg‘ is the
Lower House of USA?

- (a) Senate

73.

/19

(b) .House of Representatives
(c) House of Lords

(d) House of Conimons _

VSunder Lal Bahuguna is related

to

(a) TeBh‘agav M‘ov'err'lente
(b) Naxalbadi Mgvgment
(c) Chipko Movemnt

(d} Kagodu Satyagraha

‘ 74.

75.

The World Trade Organization
came into being in

(@) 1990

‘a» 1995

«9"1998 .

(d) 2000

The first split of Indian National

~ Congress took place in 1907 at

76.

(@) Bofnbay session

(b) Calcutta session

(c) Lahore session

(d) Surat bse‘ssion

What is the maximum time
interval permissible between two

successive sessions of the
Parliament?

(@) 4 months

(b)) 5 months

(¢) 6 months

(d) 3 months
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77.

78.

.79,

/ 119

‘Environment

Which of the followink
common feature of federalism in
India and USA? §

{a) Dlstnbutxon 0
between Union and Staheg

(b) The existendéd ' of the
Supreme Court

() Two sets of judicial
organizations

{d). Written Constitﬁtion

Which one of the following was
related to Centre-State relation?

" (a) Swarna Singh Comimittee

(b) L. M. Singhwi Committee
(c) Sarkariya Commission

(d) None of the above
‘problemis. and
issues received special:attention
of the Government of the India
from

(a) Third F1ve—Year Plan

(b) Fourth Flve—Year Plan

(c) Sixth Five-Year Plan

(d) Ninth Five-Year Plan

‘is not a 1§

.powers .

38

81.

Who,

(d] Mahatma Gafithi

among the following

: dlscus‘sed the concept of “The

(a) development  of

City of God”?

{a) Plato

(b) Aristotle

(c) .St. Augustine

(d) Cicero

82. Mgaris of political development is

modern
bureaucracy
(b) development of national

sentiments

{c) popular ‘politidal participa-
tion -

(d) -All of the above

.
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83.

84.

85.

Who is the author of the bpok- 86.

CAT (Central Administrative

The Prince? Tribunal) was promulgated on
(a) Machiavélli,' (@) 26th January, 1950
(b) Dante (b) 26th February, 1951
(c) Kautilya (c) 1st November, 1985
(d) Homer (d) 10th December, 1948
Where is the headquarter of = gg ;7 which year = Switzerland
G-157..; - adopted Federal System . of
Government? :
(a) Geneva _
. o (@) 1776
(b) New Delhi
(b) 1789
(c) Paris ' 4
(c) 1750
(d) London
(d) 1761
Which  Article of Indian
Constitution declares Devnagri ' _
Hindi as an official language of 88. The first Non-Alignment Summit

. India?

(a) Article 343

. (b) Article 348 -

/19

(c) Article 154

(d) Article 156

~ Conference was held in

(@) New Delhi
(b) Islamabad

(c) Belgrade

(d) Thimphu

-)
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(d) FRT 156,

41

&6. W m fe
A it R

() 26 wah, 1951

o e R W
"§amn |

(@) 26 ¥, 1950 |

(c) 1 7&wR, 1985

(d) 10 fRawmr, 1948

7, Rwdve 4 fod |

87

(CAT) ‘fu

; b

maﬁmm?

(@) 1776
() 1789
c) 1750

(d) 1761

(c) IASH,

(d) T =

[P. THO:




89.

90

1.

/19

Which ‘country it the world Mas

still a-direct demaeﬁacy’-’

(o) France

(b) Poland .

(c) Brazil -

(d) Switzerland

How many. members were

assigned by Cabmet Mission in
Consutuent Assembty?

(@) 300
(b) 309
(c) 450

(d) 296

Who was the Cha1rmanof Press

Committee in 19217

(a) Sir Tej Bahadur Sapru

(b) Raja Rammohan Roy
() Mahatma Gandhi-

(d) Lord Hunter’

42

92.

93,

94.

WHo* was  the “propouinder’. ‘of
Panchsheel Doctrine’?

(@) Mahatma Gandhi
() Lal Bahadur Shastri

(¢) Guljarilal Nanda

(d) Pt. Nehru

Whatd was the time duration in

the = making ~ of Indian

- Constitution?

(a) 1 year 10 months and
12 days

(b) 2 yéars 10 Lrn_qnths, and
5 days S

(c) 2 years 11 'mbnths and

18 days

' (d) 3 years 6 months and 7 days

Second Round Table Conference. '
was held on

(a) 3rd March, 1930
(b) 4th March 1931
() 26th February 1928

(d) 5th March, 1932
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(@) 134, 107wk, 12/R7

(c) 2kacf, 11 8, 18(fA
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95:. The first national’ conference: of
Communist Party of India was

96.

97,

/19

held on

(@) 26th January, 1926_’
(b) 17th Feﬁma;y, 1928
(c) 26th Decembér, A1925‘
(d) 16th M'arch;. 1930

In which year Hindu Marriage
Act was passed?

(@ 1956

(b) 1955
c) 1954

(d 1953 - .

Indo-Pak Shimla Agreement was

done on ’

(@) 2nd June, 1993

(b} 2nd July,’ 1972

(¢) 16th March, 1973

(d) 15th August, 1974 .

98. On' which date’ a separate

Constituent Assembly  for
Pakistan was formed?

{a) 3rd June, 1947

© (b) Sth June, 1947

100,

(c) 10th August, 1947

(d) 11th August, 1947

In India the age of voting is
(a) 28 yeafs

(b) 20 years

(c) 18 yeai's

(d) 21 years

In 'Whicl.z" year Lord Dalhousie

became the Governor General o
India? '

(@) 1848:" -~

(b) 1849

(c) 1851

(d) 1861
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98. frg R = wikae

99.

100.

(b) 20 =8

F fou g
iam-wn nifda A 78 pf?

(@) 3 I, 1947
(b) 5%, 1947
(c) 10 m, 1947 .

(d) 11 3T, 1947

WA # WM FA h A R

(@ 28 a8

© 18

(d) 21 ad

wiE gt fpm af WRa =1 TR
A 17 :

(a) 1848

(b) 1849
(¢) 1851

(d) 1861
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